
Mrs. Georgie Looper is a “perky”, talkative, and lively 68-year-old woman. Five years ago, she had a femoral-popliteal bypass for atherosclerosis of her lower extremities. She has a history of smoking ½ to 1 pack of cigarettes a day for 52 years. She is mildly obese (90 kg), height is 5’2’’. She has a glass of wine each day and has been on estrogen for 20 years.

Georgie developed a severe headache 24 hours age unrelieved by aspirin. Several hours later, she experienced slurred speech and numbness of the fingers in the R hand, R side of her tongue and lips. When she was admitted her vital signs were: Temp – 37, HR – 90, R – 16, BP – 230/110.

Glasgow Coma Scale:  15 – Speech clear, L upper extremity – normal grip,
R lower extremity – weaker than L, lower extremities – equal dorsiflexion,

Face – asymmetrical smile, R facial weakness, CNs – intact, bruit over left carotid, reflexes – hyperreflexia on the R, + Babinski’s sign.

EEG:   Localized focal activity in the left hemisphere.

CT:  Increased density on the left indicating an infarction.

Angiogram:  Narrowing of the carotid arteries bilaterally, with greater involvement 
                    on the left. 
Evidence of ulcerated plagues in both carotids. Middle cerebral branches indicate narrowing and occlusion on the left.

Lumbar puncture:  Negative.

Questions:

1.  What kind of CVA did Georgie most likely experience?

     a.   subarachnoid
     b.   thrombosis with an ischemic event
     c.   intracerebral hemorrhage
     d.   embolic CVA






2.  Georgie’s past history indicated some risk factors for CVA. Which of the
     following are risks for stroke?

     a.   hypertension
     b.   smoking
     c.   obesity
     d.   estrogen therapy
     e.   all of the above

3.  Georgie was very anxious about the numbness on the right side of her mouth
     and tongue and the fingers of her right hand. When asked questions about 
     these symptoms, you might appropriately respond with:   

     a.   “some or all of these symptoms may disappear.”
     b.   “the part of your brain that causes these symptoms is not getting enough
           glucose and oxygen.”
     c.   “as soon as your blood pressure is controlled, these symptoms will 
           disappear.”
     d.   a and b
     e.   c and d

4.  Blood in the CSF of an individual is most likely in_________CVAs.

     a.  TIA
     b.   thrombotic
     c.   embolic
     d.   hemorrhagic

5.  A bruit auscultated over the carotid artery indicates:

     a.   a defective mitral valve where emboli are formed and then carried
           to the brain by way of the carotids.

     b.   unilateral complete occlusion of the carotid artery.
     c.   a narrowing of the carotid artery.
     d.   a normal finding in adults after carotid endarterectomy.

6.  Explain the underlying pathophysiology of the clinical features
     exhibited by Georgie.
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